
08-06-2025

Catalyst 4 Height Adjustable Flip Back T-Arm 



08-06-2025

Receiver and Hardware update effective 11/25/24 Short Side Shield used with 14"-17" Seat Depths. Long Side Shield used with 18"-

20" Seat Depths. If retrofitting, Receivers are needed.
 

Item Number Part Number Description Quantity
1-7, 9-13, 15,
16a, 17a, 19,
21

004158 Height Adjustable Flip Back T-Arm Lower
Assembly Short 1

Does not include t-arm upper, arm pad or arm pad screws

1-7, 9-13, 15,
16b, 17b, 19,
21

004159 Height Adjustable Flip Back T-Arm Lower
Assembly Long 1

Does not include t-arm upper, arm pad or arm pad screws

1-7, 8a, 9-15,
16a, 17a, 19,
21

003459 Height Adjustable Flip Back T-Arm Short Desk 1

Does not include arm pad or arm pad screws

1-7, 8b, 9-15,
16a, 17a, 19,
21

003460 Height Adjustable Flip Back T-Arm Short Full 1

Does not include arm pad or arm pad screws

1-7, 8a, 9-15,
16b, 17b, 19,
21

003461 Height Adjustable Flip Back T-Arm Long Desk 1

Does not include arm pad or arm pad screws

1-7, 8b, 9-15,
16b, 17b, 19,
21

003462 Height Adjustable Flip Back T-Arm Long Full 1

Does not include arm pad or arm pad screws

1-7, 9-13, 15,
16a, 17a, 18-
21, 24, 25

505617 Height Adjustable Flip Back T-Arm Short Retrofit
Assembly, Catalyst 4 1

This kit is used to retrofit from a Height Adjustable T-Arm to
a Height Adjustable Flip Back T-Arm. This kit is to retrofit
one side.

1-7, 9-13, 15,
16b, 17b, 18-
21, 24, 25

505618 Height Adjustable Flip Back T-Arm Long Retrofit
Assembly, Catalyst 4 1

This kit is used to retrofit from a Height Adjustable T-Arm to
a Height Adjustable Flip Back T-Arm. This kit is to retrofit
one side.

1-7, 8a, 9-15,
16a, 17a, 18-
21, 22b, 24-26,
30, 31

505266 Height Adjustable Flip Back T-Arm Short Desk
with Standard Pad Assembly, Catalyst 4 1

1-7, 8b, 9-15,
16a, 17a, 18-
21, 22a, 24-26,
30, 31

505267 Height Adjustable Flip Back T-Arm Short Full with
Standard Pad Assembly, Catalyst 4 1

1-7, 8a, 9-15,
16b, 17b, 18-
21, 22b, 24-26,
30, 31

505268 Height Adjustable Flip Back T-Arm Long Desk
with Standard Pad Assembly, Catalyst 4 1

1-7, 8b, 9-15,
16b, 17b, 18-
21, 22a, 24-26,
30, 31

505269 Height Adjustable Flip Back T-Arm Long Full with
Standard Pad Assembly, Catalyst 4 1

1-7, 8a, 9-15,
16a, 17a, 18-
21, 22b, 23-31

505270
Height Adjustable Flip Back T-Arm Short Desk
with Standard Pad and Receiver Assembly,
Catalyst 4

1



08-06-2025

Item Number Part Number Description Quantity
1-7, 8b, 9-15,
16a, 17a, 18-
21, 22a, 23-31

505271 Height Adjustable Flip Back T-Arm Short Full with
Standard Pad and Receiver Assembly, Catalyst 4 1

1-7, 8a, 9-15,
16b, 17b, 18-
21, 22b, 23-31

505272
Height Adjustable Flip Back T-Arm Long Desk
with Standard Pad and Receiver Assembly,
Catalyst 4

1

1-7, 8b, 9-15,
16b, 17b, 18-
21, 22a, 23-31

505273 Height Adjustable Flip Back T-Arm Long Full with
Standard Pad and Receiver Assembly, Catalyst 4 1

18, 20, 24, 25 112957 Armrest Flip Back Height Adj T-Arm Hinge
Assembly, PAIR, Catalyst 4 1

This kit is for a pair of hinge assemblies. A pair is required
as a replacement as of May 19th, 2021

3, 5, 6, 9, 11,
13 504560 Height Adjustable Flip Back T-Arm Latch

Assembly 1

4, 9, 10, 12 504561 Height Adjustable Flip Back T-Arm Release Lever
Assembly 1

23, 27, 28, 29 501730 Height Adj T-Arm Receiver Assm 1" CAT 1

30, 31 504577 Height Adjustable Flip Back T-Arm Mounting
Hardware Assembly 1

This kit contains various mounting hardware for multiple
configurations

1 003420 T-Arm Post 1

2 000095 Height Adjustable T Armrest Transfer Tube 1

3 000096 Height Adjustable T Armrest Pin Lock Housing 1

4 003419 Armrest Release Lever 1

5 000099 Height Adjustable Armrest Lever Pin 1

6 003418 Armrest Height Adjustment Lever 1

7 000090 Height Adjustable T Armrest Shim 2

8a 000091 Height Adj T Armrest Upper Desk 1

8b 000101 Height Adj T Armrest Upper Full 1

8a, 14 112906 Height Adjustable T Armrest Upper Desk w/ Tube
End Plug 1

8b, 14 112907 Height Adjustable T Armrest Upper Full w/ Tube
End Plug 1

9 003458 M5 X 12mm FHCS BLK ZN W/ Patch 2

10 000152 Height Adjustable T Armrest Release Spring
Button 1

11 000134 Height Adjustable Armrest Lever Spring 1

12 000135 Height Adjustable T Armrest Release Lever
Spring 1

13 200257 Dowel Pin 1/8 x 1/2 1



08-06-2025

Item Number Part Number Description Quantity

14 100803 Tube End Plug 7/8" 2

15, 16a, 17a,
19, 21 504562 Height Adjustable Flip Back T-Arm Side Shield

and Metal Insert Short 1

15, 16b, 17b,
19, 21 504563 Height Adjustable Flip Back T-Arm Side Shield

and Metal Insert Long 1

22a 100500 Arm Pad Full 1

22b 100501 Arm Pad Desk 1

23 122055 Binding Post, Flat Head, M6, .38” 2

26 100696 M5 x 30mm PPH Capscrew 2

27 122222 Height Adjustable T Armrest Bracket,
CAT/SPARK 1

28 100667 M6 x 12 BTN SHCS BLKZC w/Patch 2

29 122221 T-Arm Receiver 1", Cat 1

30 100658 M6 Nylock Nut Blk Zn 2

31 100544 M6 x 75 CLS 8.8 DIN931 HHCS ZC 2


